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Worksheet by Kuta Software LLC

Algebra 1

Linear Inequalities and Systems of Inequalities Study Guide

Name___________________________________

-1-

Solve each system by graphing.

1)  6y − 24 = 3x
y − 1 = −x
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2)  −y = 4 − 2x
4 − 2x = −y
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3)  −4 − 2x = −2y
−y − 2 = −5x
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4)  3 − 3y − x = 0
9 = −3y − x

x

y

−5 −4 −3 −2 −1 1 2 3 4 5

−5

−4

−3

−2

−1

1

2

3

4

5



©M b2q0T1`6e BKDuStTaZ qSVoGfctWwEa_rDec rL^LZCt.d [ tATlbl_ urTiEg`hztls[ YrleisReXruvQesdO.h Q qMMa\dIeV gwfift`hx CILnRf^imn\intnel iA\lkgYe_bPraax [1p.

Worksheet by Kuta Software LLC-2-

Sketch the graph of each linear inequality.

5)  x < 5
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6)  y ≥ −x + 2
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7)  y ≤ −6x − 3
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8)  y < −3
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Write the linear inequality for the given graph.

9)  

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

10)  

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8



©E c2g0x1y6` NKfuMtjaD WSyoDfVtBwaaorlel ULiLDCr._ g oAXlClW [rPihgGhBtgsF HrFeOszeDrRvZeDdS.D K bMOaVd\e` UwUiztbhs BIvnafHiinXiPtuef XAIlWgVeUbgrUau j1o.

Worksheet by Kuta Software LLC-3-

11)  
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Sketch the solution to each system of inequalities.

15)  y > 
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16)  y ≤ −x + 2
y < 2x − 1
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17)  y > −
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18)  y > x − 2
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19)  x − 5y ≤ −30
8x − 5y ≥ 5
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20)  x − 2y ≤ 6
7x − 2y ≤ −6
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Using the graphs to answer the questions.

21)  Which of the following is a solution to the
given inequality?
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A)  (6,2) B)  (-6,2)
C)  (2,6) D)  (-2,6)

22)  Which of the following is a solution to the
given inequality?
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A)  (3,5) B)  (3,-5)
C)  (2,-2) D)  (-2,2)

23)  Which of the following is a solution to the
given system of inequality?
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A)  (3,-4) B)  (3,4)
C)  (-3,4) D)  (-2,-4)

24)  Which of the following is a solution to the
given system of inequality?
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A)  (0,5) B)  (5,0)
C)  (0,-5) D)  (-5,0)


